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fyifea & afami @ WE B9 © - 7. 1@ D1 gREl, Ed & RS |
(A) s, ca aa, Tl Frepcias & 3 W1, IHH JTC Dl ||
(B) & o, g, T o, u Sydh dfeal § B W DR & 7
(C) o, aat, g, g a1 (A) @fR®
(D) & &, 9, T af, g (B) ™™
(C) afam
(D)
2. FredwiioE ReRAaR Aea@ww 8 I UG @ AW e -
R, I8 I% HEad & — (A) &d
(A) forafaeyor (B) 3
(B) ws (©) afer
(C) wd ™ (D) 3™
(D) Jqg .
3. frefoRes ai-fawse @ w8 o= & - 9. ‘TN T g AW fifea ¥ § b @R
S+A+A+q+A+A+ 3 we?
(A) I (A) TRl goerd
(B) Sworadt (B) ¥R Wl
(C) Svad (© gamgITd
(D) Svad (D) @Qﬁ##aﬁé-—@
4. BN W UL TGIIT 8 ? 10. R B fope ST A TS € 7
A) @ (A) @R
(B) TV (B) 318
© (©) uH
(D) ¥ ¥ K el (D) ¥®
5. PeERTidE A I e wE et 11 RS @ el § v @ e | -
(A) TEs (A) B & T ¥ g1 R o e
(B) 3idE=< (B) 3™ B Hou B |
(C) ddeg (C) F # 7T B T |
(D) ¥EE (D) T A DIg el
6. U9 WE q@ g9 7 AT 12. BUA & FoH yorT Freifed # § 1 € 7
g 7g W RR | (A) A/t ATE
SUYH ufeedl @ — (B) *Raq
(A) < (C) amard
(B) dmurg (D) Jmard fagar
(C) WRaT
(D) SU4H # § D TRl
13.  Khetri is famous for which industry ? 13.  Wad frg ven @ ol wRig 8 7
(A) Clopp_et (A) dm&r
(B) Aluminium B
S is 3 o
(D) Zink (D) v
14.  FTP stands for — 14. t & @ (FTP) & —
(A) File Transfer Protocol (A) BIgd SR P IEEIG]
(B) File Transmission Protoco.l (B) ®1Ed PRI e
. (C) File Transmis;:;)n Processing (C) wEd e SR
* (D) None of the above :
F’Q INDIRESULTE (D) S # § #E 7
% 04 (101) Page-1
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15. Indian Agricultural Research Institute is 15, ¥R PR My A faRed & -
?gl)xatgclil at _l (A) W
(B) Va?aI;?asi (B) IR
(C) Cuttack (C) oo
(D) New Delhi (D) 7§ faeeh
16. Life is related to Death in the same way as  16. ‘Sifgq & G4 'ﬂ?{{ ¥ & O\ 3 aRE amen
Hope is related to ? P THEE .
Ay Sal. (A) 3@
(B) Despair (B) e
(Q) Cry (C) T
(D) Pain D) ter
17.  National Rice Research Institute is located at—  17. I e I eI R & -
(A) Varanasi (A) TRTORET
(B) Lucknow (B) RICER
(C) New Delhi
(D) Cuttack Eg)) :i:ﬁﬁ
18. Development of fruit without fertilization is 18. f¥9+ @ fa1 ol @ fdog & @5d & —
lled -
E;)e Back cross Eg; Wﬁ WF %
(B) Parthenocarpy
(©) Apomixisarp (©) vafifaaa
(D) None of the above (D) SWIH § | BE el
19. UNIXisa- 19. IHe (UNIX) & -
(A) Multiuser OS A qaﬂ‘zliﬂ
(B) Time-shared OS EB; W_Mm
(C) Multi programmed OS (€) 7 IR A
(D) All of the above
(D) SWRRH W
20.  Which of the following substances is used for ~ 20. fmfaRed # f5a waRf &1 SwENT sl 7a1 &
the reclamation of acidic soil ? QIR ¥ frar ST & ?
(A) Urea (A) ‘lﬁ‘”
5 i (B) WEIEE
Lime
(D) Zinc 8 %
21. India: Peacock :: Russia: ? 21, YRG:AN :: ®©9:?
(A) Panda (A) T
(C) Tiger (©)
(D) Bear (D) W
22.  Best bio fertilizer for rice is — 22. o & ford watem fdw @< & -
(A) Rhizobium meliloti (A) VEAITeTH Feliarers
(C) Bacillus megatherium (©) ToeE TR
(D) Azolla pinnata
(D) Taiternm fa=rer
23.  Which of the following state is highest 23. fyg § 9 fow w9 ¥ Wai® Se & IR
producer of jute ? dard?
(A) Assam (A) 31'\‘!‘1
(B) West Bengal sl
®
N rissa
(% NbifES s o) |
-A] 04 (101) Page-2
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- 24,

25

26.

27.

- 28

29.

30.

31

32,

-

F’lg |N§)|REESULTE

Insecticide which is harmless to the honey bee ?
(A) Endosulfan

(B) Permethrin

(C) B.H.C.

(D) 2,4-D

Which one is not a pointing device ?
(A) Mouse

(B) Trackball

(C) Barcode scanner

(D) None of the above

Cycocel is a —

(A) Growth hormone
(B) Growth retardant
(C) Fertilizer

(D) None of the above

Study of plants used as vegetables is known
as —

(A) Floriculture

(B) Pomology

(C) Horticulture

(D) Olericulture

In L.D.R., the profit will be maximum when —
(A) MC=MP

(B) MC>MP

(C) MP=TP

(D) MP>TP

OMR stands for —

(A) Open Mark Reader

(B) Open Machine Reader

(C) Open Mark Recorder

(D) Optical Mark Reader

Acid rain contains mainly —

(A) PO4

(B) NO2

(C) NOs

(D) CH4

Which of the following is not the plantation
agriculture crop ?

(A) Tea

(B) Coffee

(C) Sugarcane

(D) Coconut

A is taller than B but shorter than C. E is
taller than B but shorter than A. D is taller
than A but shorter that C. The shortest person
is—

(A) B

(B) A

(C) D

24.

23.

26.

27.

28.

29.

30.

31.

32,

@mnlnssuua

/ YOUR SUCCESS PARTNER

TARd & foIy B W P giRied § ?
(A) TUSIRICHH

(B) TRHRM

(C) HoTFow0

(D) 2, 49

et & ¥ oI Qe Ragw 7@ & ?
(A) 799

(B) wadfet

(C) IRIIE TR

(D) IR ¥ ¥ B &
EHNI ¥ TH —

(C) SR®

(D) SR # ¥ Bg T8

Tl & ford &M IM aer O B EmEE @
FEd § — :

(A) TaRI@HeaR

(B) UM

(C) @ifiéTem

(D) 3MeRideaR

A QAR § frpaw @™ B9 BT ?
(A) MC=MP

(B) MC > MP

(C) MP=TP

(D) MP > TP

ATHAIR, & —

(A) 3T A6 X

(B) 3 A e}

(C) 3 A Ry

(D) difeda 7@ dex

e qut ¥ YEIa: T o @ -
(A) PO4

(B) NO;

(C) NOs

(D) CHs

fre & ¥ o T By A S @ 8 7
(A) I

(B) @Eal

(C) =

(D) =IRT

ABU Tt fegCcABTRIE BH
o @ fieg A ¥ BIET B| D, A 9 o1 ¢ g
C ¥ BleT 3| W BT 3 & ?

(A) B

B) A

(C) D

(D) E
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33. Pomology is the study of - 33, OHIdT § 0T AR § -
(A) Fruits (A) Bal T
(B) Forests (B) T4t FT
(C) Flowers :
(D) Insects Eg %_(ggr
34. For wheat crop, how many irrigations are 34, ﬁi B BE @ fha IR Gifad IR @I
required ? JMaeEHAT Bl & ?
@) six0g @) (o)
en
(©) Two (02) % Zf(ég’)
(D) One (01) D) T (01
35. The binary number system consist of two  35. CIWeIg G YUel A= @) 3l WX AMEnRd &
dlglt i (A) 1 ’ 2
A) 1,2 (B) 1,0
B) 1,0 € 1,5
© 1,5 (D) 1,9
D) 1,9
36. Which of the following rivers has a ‘bird foot’”  36. = & & @1 7 o1 ‘Gef T ABR BT SeeT
shape delta ? 27
(A) Danube i
3
(C) Nile ©
(D) Mississippi D) P
37. Which of the following crop is the most 37. &Rd @ Qf? ¥ 4 ¥ o9 @ oua @
sensitive to salinity ? Hdagia & ?
B) Maize
(B) Ha®1
(C) Mustard s
(D) Potato Eg; :%tﬁ
38. On which river Sardar Sarovar Dam is 38. ¥GR GUX 99 g el W) 9171 741 & ?
constructed ? (A) Haed
%g; (S}at:;j , (B) TGm@st
odavari
(C) Narmada (g) il
(D) Brahmputra (D) s&Igd
39. A and B are brothers. C and D are sisters. A’s 39. AIRBYEEICIRNDHAEIATIRID
son is D’s brother. How is B related to C ? HT9E 8 A B, C ¥ by TRe gwfg & ?
(A) Uncle (A) =T
(B) Father
(C) Brother (B) faem
(D) Grandfather Eg)) :'ITE'T
40. Cotton fibres are largely made up of - 40. YT FT @M &0 wy ¥ g BT 8§ -
(A) Lignin (A) fafta &
R ® w@is
ellulose
D Noncorne (INDIRESULTE  © ¥R
[SET-A] 04 (101) Paged
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41, Deficiency symptoms of calcium on plants 41, OBl W BfTmd H T & AT FIGAT Pel
. first appear at — yefdfa e & ?
(A) Lower leaves (A) el oftgal w
(B) Middle leaves ®) &= gfaat @
C) Terminal | O o
ED)) All 1ea\?es e © i , &
(D) ¥ ufedl w®
42, Who among the following established the 42. P ¥ aed o B e B ¥ e
Lakshmi Ashram in Kausani ? P
(A) Vidya Devi (A) e <Y
(B) Bhagirathi
(C) Kunti Devi (g) W"“ mﬁ'
(D) Sarla Behan © %
(D) el 98
43, The word ‘agriculture’ is derived from — 43. ‘TiReeR W forar T ' -
(A) Greak A fra
(C) Arabic (©) WP
(D) French .
(D) %4
44, The three words out of the following four 44, fAm=foRad IR v § § 9 el 7 foedt g
words are almost same in nature and they ¥ G ¢ 3R TP AT AT TR Bl fersior
farm a group. Which one of following does XY &1 T A PH | TP OGT B, S I A
not belong to that group ? A2
(A) Wh_eat (A) ﬁé ’
(B) Maize
(C) Paddy (B) Haol
(D) Mustard ©) &1
(D) w=Ei
45.  Which of the following are short day crops ? 45. = QA g fq Suw 8 ?
(A) Maize, Lobia, Bajra (A) WEBT, AT, ITORT
(B) Wheat, Mustard, Gram (B) ﬁé qYar AT
(C) Moong, Soybean, Bajra © W o
(D) Wheat, Soybean, Bajra D) ﬁﬁ, H‘RIIEﬁT-Tr -
46. The soil with particle size between 0.002 —  46. 0,002 — 0.02 f¥flo Fv &Y a1 FEARN € —
0.02 mm is — (A) R gy
(A) Clay B ¥
(B) Fine sand EC; E:.’
(C) Silt
(D) Coarse sand (D) ¥
47.  Which canal convert Atlantic ocean to pacific 47. I W TR Icdifcd HEMFR D T
ocean ? TR ¥ Sred  ?
(A) Suez canal (A) WY Tex
(B) Panama canal
(C) Grand canal (2) E_\_T%ﬁ
(D) Erie canal ED)) <& T
48. What do you mean by the word ‘Tharu’ ? 48. ‘U UG B 7T AR § ?
(A) A type of vegetation (A) TP YBR B FTef
% gtype ogfqz:l (B) & WK &I Ao
type of tri SR
/'. (D) A type of bird Eg)) g ﬁ jr =
) INDIRESULTE
4[?ET-A] 04 (101) Page-5
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49, V\}/lhitchhof the 1fcvllowi‘r?ig group of gases cause 49,  YHN XWAMS gH H P G A Il § ?
photochemical smog (A) O3 PANand CO
(A) O; PAN and CO (B) O, PAN and NO,
% b b (C) 0; PAN and NO,
an
(D) O, PAN and CO (D) O, PAN and CO
50.  Find the odd one out — 50. o T R S 9 N —
(A) Mouse (A) wed
omputer
: ©€) =X
(D) Monitor D) sy
51. In which state of India the biggest fertilizer 51. URRT &1 §e9 g9 Sde sREM 7§ ¥
factory of Asia is situated ? fravTgAe?
(A) Jharkhand A) IIRWETE
(B) Andhra Pradesh EB; AT TR
(C) Gujrat C
(D) Uttar Pradesh ED; Wﬁﬁli € u&ml
52. Black soils are most favourable for the 52. ¥ Gua o @ & oy @l e SRECH]
cultivation of which crop ? AT e ?
(A) Jute
(B) Cotton Eg; :;Eqm
(g) %,iff (C) d|@
t .
(D) Whea D) ¥
53.  What is the main function of zinc in the plants? ~ 53. Wi & & &1 77 & @1 8 ?
(A) Synthesis of nitrogen (A) EEreH &1 fAmr
(B) Synthesis of phosphorus (B) BNHRY &I fmfor
(C) To increase activity of boron
(D) Required for synthesis of Tryptophos Eg)) m mgﬁﬁ
54.  Which is the most ancient race of Uttarakhand ? 54. TTRIEUE @ YHAMAH Fofa i A g ?
(A) Lohar (A) WER
(B) Khas (B) @¥
(C) Kiratas (©) fxr
(D) Kole (D) e
55. Which type of soil is best for knol khol ? 55.  Tife MY 3@ &g @E ot qa B AEIFHA § ?
(A) Loam (A) e
(B) C}ayey loam (B) e e
(C) Silty © R
(D) None of the above (D) SR ¥ ¥ B T
56. If the 11™ day of a month is Saturday which 56. o W@ &1 1147 o7 wftar g o FefoRea &
of tt;el:l gollowing days will be 5 times in that ¥ PH w1 3T A1g § " IR e ?
month ? HTeaR
(A) Tuesday Eg; R
7 o (©) T
Wednesday
(D) Saturday (D) ofaR
57.  The most destructive disease of sugarcane is—  57. 7= &I g9 AP BPRD T & —
(A) Redrot (A) & Feq
() RAD o (B) IRYEL
(C) GSD > ©) HgEd
(D) None of the above /.‘//' INDIRESULTE 1) wwiw &2 2% 78
[SET-A] 04 (101) Page 6
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Ratna is a variety of which of the following
crops ?

(A) Maize

(B) Rice

(C) Barley

(D) Wheat

In which of the following country Victoria
lake is situated ?

(A) Uganda

(B) Somalia

(C) Tanzania

(D) Rwanda

Who was the first commissioner of Kumaun ?
(A) Mr. Trail

(B) E. Gardner

(C) Henry Ramsay

(D) P. Barron

Jamunapari is a breed of —
(A) Cow

(B) Goat

(C) Buffalo

(D) Sheep

KcaC : Cack : : XgmF : ?
(A) EmgF

(B) EgmX

(C) FmgX

(D) GmeF

‘Murrah’ is the breed of —
(A) Buffalo

(B) Cow

(C) Sheep

(D) Goat

The first secretion of milk from mammary
gland is known as —

(A) Colostrum

(B) Nutriflavin

(C) Oxytocin

(D) Mammary fluid

Which is the folk song of Uttarakhand ?
(A) Nyuali

(B) Chhapeli

(C) Chaiti

(D) All of the above

Which is the largest coal field in India ?
(A) Jharia

(B) Bokari

(C) Giridih

» (D) Raniganj

uuuuuuuuuuuuuuuuuu

58.

59.

60.

61.

62.

63.

65.

66.

uuuuuuuuuuuuuuuuuu

T U Uit & —

(A) HHI

(B) A&

© s

(D) g

e ¥ Q) fr 2w ¥ R fa Rem 22

(A) gmer

(B) d

(C) A
(D) wmdieT

B P Ug A DI & ?
(A) sl

(B) 30 TR

(C) TR ot

(D) o &=
AR T & —

(A) T

(B) TP

©) %

(D) *$

KcaC : Cack : : XgmF : ?
(A) EmgF

(B) EgmX

(C) FmgX

(D) GmeF

Rt fewa gorfa & ?

(A) ¥

(B) T

© %9

(D) TP

" IR ¥ fidem aTel YoM S dEedl a—
(A) PereH

(B) “Rifad

©

(D) &H &
ITRIEVE & A Mid B a1 8 ?
(A) el

(B) BUaH

(©) =i

(D) ST

TR ¥ I 9 DI &F P A8 ?
(A) R

(B) @RI

ORULEHE

(D) YHFTS
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67. First dwarf variety of paddy developed in  67. @ad & WM T fhe o 9RT & fafa E‘s‘—'
India is — (A) T
@ ® T
et - :
. c
(C) Govind ED; Ne—g7
(D) Narendra - 97
68. After walking 6 km. I turned right and  68. 6 f&dl0 Iem & a1 # < Fe1 U@ 2 f&H0 @
covered a distance of 2 km. then turned left qﬂa’qaﬁaaaﬁﬂgﬁmﬁ;ﬁoﬁiﬁm
and covered a distance of 10 km. in the end I P agF F TP AN TT @A AN A
was walking towards the north. In which T e e & I B ?
direction did start my journey ? x "
(A) North (A) S
(B) East (B) W
(C) West (C) uf¥=d
(D) South (D) <&
69. Cross between a heterozygous individual and  69. ﬁﬂ'ﬂ"’qﬁﬁ qreq &1 W’g"’qﬁﬁ I TP D
homozygous recessive parent is called as — T P FEaTdl & —
(A) Back cross (A) T G
(B) Monohybrid cross THEPR G
(C) Di hybrid cross (B) S dren
(D) Test cross © :
(D) TS HaHR
70.  Polyploidy can be artificially induced by — 70. IO @ FEW WY 7 IR o wHw o
(A) Colchicine (A) SifealE '
(B) 0.1M Nacl Solution (B) 0.1M Nacl FRUGH
(C) 0.25 M Sucrose Solution (©) 0.25M siFer e
(D) Zeatin D) FGRJTQ'FI
71. How many seats are reserved for scheduled  71. STREvS @t fue g1 # < HGIECACETIIG] @
tribe in Vidhan Sabha of Uttarakhand ? oy fopaet dic axfem € ?
(A) 5 (A) 5
(B) 2 (B) 2
©) 4 ©) 4
D) 1 (D) 1
72.  Plants can be made resistant to disease by— 72. O} B T YRR IR O T & —
(A) Mutation (A) SRad R
(B) Increasing the chromosome number (B) W P =T TR
(C) Breeding with their wild relation (C) T B T FerIfy _\e[ HHR TR
(D) Colchicine e
(D) Sifeaf gr
73.  Ais B’s brother. B is wife of C. Cis D’sson.  73. A, B @& W% 8| B, C @ U 81 C, D &1 [F
D is E’s wife. Who is E of B ? EID,EN TN RIE,BR P& ?
(A) Brother in law (A) el
(B) Sonin law T
(C) Mother in law (B)
(D) Father in law (€) W™
(D) Wg
74.  Colchicine interferes in — 74, Pifeafa wfed Hvar 8 -
(A) Chromosome condensation (A) TREF g9
(B) DNA Replication B) STHT gﬁ@ﬁ
(C) Organization of spindle fibres EC; ﬁm-q 7 e
./ « (D) Crossing over (D) \_’h‘%agﬁﬁ
a//’ !NPSIBCE“$H!-IE indiresult.in whatsapp - 9352018749
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In cyclone effected are the roof architecture  75. TEadig &3 ¥ Bd @ g9aC S B AT ?
. should be — (A) e CaGl
2 (A Teangle @) R amR
(B) Pyramidial
(C) Flat (C) wure ,
(D) None of the above (D) T A B T
76.  Pure line selection is used as a method ofcrop ~ 76. gg dqIHA WU &I ?F O BEAl P T
improvement in — gj@m‘q T S g ?
(A) Self pollinated crops (A) ARAE Bae
(B) Cross pollinated crops RRTTR .
(C) Vegetatively populated crops (B) iy ;[;ﬁ::[j‘[
(D) All of the above (©) @i
(D) SWRKH T
77.  In which district of Uttarakhand is ‘Kalsi ~ 77.  ‘®erdl ferg STRrETe @ fobg wMug # Red
Inscription’ situated ? 27
(B) Dehradun
(C) Chamoli ((B:) m&az 'y
(D) Pauri ED)) ¥
78.  Which of the following is indigenous breed of ~ 78.  f=ifeiRad & & 319 %4 @1 M eg?
buﬁalo ? (A) aﬁ
(A) Jersey B) MR
(B) Gir
(C) Sahiwal (€) wifeard
(D) Murrah (D) &
79. Which state has the highest population in  79. ¥Rd P frg g @ ST HaeD § ?
) India ? (A) =T 9eW
(A) Madhya Pradesh TN
(B) Maharashtra Eg; RER
(C) Bihar e
(D) Uttar Pradesh D)
80. ADE:FGJ :: KNO:? 80. ADE:FGJ :: KNO:?
(A) PQR (A) PQR
(B) PQT (B) PQT
(C) RQP (C) RQP
(D) TPR (D) TPR
1. Who is the only Bharat Ratna recipient of  81. STRREUS & U A HRA ¥ PHE?
Eﬁt)arPt Go(ir‘i?nd Ballabh Pant (A) qﬁfsam i
(B) Hemwati Nandan Bahuguna (B) T W51
(C) Barrister Mukundi Lal (C) IR JIa
(D) Chandra Singh Garhwali (D) = Rig Tare
82. Which of the following is used as green  82. fyfolaa § & free! &0 @K @ w9 F JA
manure ? foar ST & ?
(A) Sugarcane (A) T
(B) Onion
(C) Tobacco (B) wrdt
(D) Dhaincha E(I;)) éa'rfl (3
83. Which river is considered as a boon for  83. IH A T gﬂ?‘n T P T wREF & ?
EX;‘“;."?I‘:Y.? A) e
indar river .
. . (B) T T4l
(B) Kamal river A
(C) Mandakini river C{’O INDIRESULTE (O #aiwil 7
(D) Ramganga river (D) R QY
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84. Marmagao Port is situated in which state of  84. “HRHFIT TR URA & g g H ford 8 ?
India ? (A) Tar
(A) Goa (B) @icsd
(B) Karnataka ©) A=
(C) Chennai
(D) Tamil Nadu (D) e
85. ICAR formed in the year — 85. ICAR & fomfor &7 a¥ & -
(A) 1905 (A) 1905
(B) 1925 (B) 1925
(©) 1929 (©) 1929
(D) 1889 (D) 1889 .
86.  Where is the ordinance factory in Uttarakhand 86. TTRNIUS H fe=q ‘#Eff Fer g ?
situated at ? (A) :RI?[
(A) Mussoorie S
(B) Nainital (B)
(C) Dehradun (C) eI
(D) Almora (D) e
87.  Where is Tiger Fall ? 87. TIZR Wl Pal & ?
(A) Chakrata (A) &
(B) Haridwar (B) Eﬁgﬁr
(C) Nainital (©) ¥ra
(D) Pithoragarh
(D) fleirrrg
88. The Community Development Programme 88. 9Rd H '\"lTﬂ'q’m T srismy by fopar Ty —
(A) 2™ October 1950
(B) 2™ October 1951 (B) 2 3[aTEY 1951
(C) 2™ October 1952 (C) 2 JaTAX 1952
(D) None of these (D) G‘qg?ﬁ # 9 B e
89. When was the first election held for 89. ITRIEYE A | ?‘g[ WIH 3 g1 he g3l
Uttarakhand Legislative Assembly ? or ?
® £ 13200 ® 1 v
e (C) 14 BRI 2002
(D) Feb. 15, 2002
(D) 15 AT 2002
90. Who participated in ‘Dandi-March’ of  90. WRh Wt @ "TE FH ¥ TREETE § e
Gandhiji from Uttarakhand ? wfawmT faegr o ?
(A) Mukundi Lal A) o
(B) Victor Mohan Joshi EB; ﬁéﬂ'\' e
(C) Jyoti Ram Kandpal eV
(D) Khusi Ram E]():)) el
91. The Important Green House Gas mainly  91. thﬁ?m‘: ged 9 = Wy W gE @
released from paddy field is ? W ¥ IO B & -
(A) CH,4 (A) CH4
(B) CO, (B) CO;
(C) N0 (C) N,O
(D) All of above (D) SR H g+
92. ‘Praja Mandal’ was established at Dehradun 92, ‘yoyvee &t RITYAT ?}gqrg ¥ 9l @I ol
with the objective — P S o -
(A) To get freedom from British Rule
(B) To get freedom from Gorkha Rule (A) fafer e & ‘ﬁﬁ & forg .
(C) To organize people from social reforms (B) TR I P ﬂﬁ'ﬁ G ferg
(D) To free for people from mis-rule of (C) wmfos W @ forg |t @ Sl e
Tehri Rajya | (D) ST 3 feed ¥Iow & e & 4 @ for
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Who was the first Historical Dynasty ruled in 93, SItRIEUS ¥ o e aen yed e
Uttarakhand ? A D o ?
B) Parmar
; (B) TR
(C) Katuri
(D) Gorkha ©
(D)
Dagger nematode is — 94. IR e -
(A) Anguina (A) T
(B) Longidorus (B) aferRd
(C) Xiphinema Fofi
(D) Trichodorus Eg;
95.  What is the Ancient name of Uttarkashi ? 95. ITRPMI BT YrEM AH 4T AT ?
(A) Saumyakashi (A) ARy
(B) Kedar Kshetra (B) m m
(C) Barahat
(D) Shri Kshetra Eg)) ;'5 ga
96.  Tehri state was merged in the Indian Union — 96. Red Rumg (Re) @ Wxdg w9 #
(A) 1920 RftraRor a1 % & —
(B) 1932 (A) 1920
(C) 1949 (B) 1932
(D) 1955 (C) 1949
(D) 1955
' 97.  ‘Ear Cockle Disease’ of wheat is caused by — 97. W F FR Poet IT fEd HRO Bl g7
(A) Bacteria (A) r,ﬁa-rtg
% R (B) &%
irus
(D) Nematode Eg)) g_:gs
98.  Who known as ‘Garh-Kesri’ ? 98. W Tg-dEr B AW § A W € ?
(A) Govind Ballabh Pant (A) MfE< Toom T=1
(C) Ansuya Prasad Bahuguna C amm" TS T
99.  The instrument which measures wind velocity 99. @ S 97 P AU BT AT © —
is — (A) TEMIER
(A) Potometer (B)
(B) Lactometer ©) m‘,
(C) Hygrometer L
(D) Anemometer (D)
100. The capital of the Katuri emperor’s was — 100. Ty ATGSD! Y Iroter o —
(A) Srinagar (A) #R
(B) Almora (B)
(C) Kartikeyapur _cﬁﬁw
» (D) Mordhwaj Eg))
(4
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